
Sex, Ageing and Foraging Theory

Part II - Sexual reproduction
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The demographic cost of sex

• For every daughter a 
sexual female makes, an 
asexual makes two.


• Asexuals have a huge 
demographic advantage 
and should easily 
outcompete sexual.  
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Summary

• Sex = production of new organisms by the 
combination of genetic information of two 
individuals.


• Males = many small gametes (sperm). Females 
= fewer larger gametes (egg).


• Population growth is female limited.


• Two-fold demographic cost of sex.


• Asexuals accumulate more deleterious 
mutations and adapt less efficiently than sexual. 
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